YEAR & - DEVELOPING NUMBER. .
Fractions & Percentages

TR A N I
| What do [ reed to be abe | | Reuwords |
| t do7? I Percent: parts per 100 —written using the / symbol |

0 QO¢ =H

| —— ' | | Decimak a number n our base. 10 number system Nombers to the right of the. decimal place are called decmals |
| By the end of this unit you shouid be able to: | | Fraction: a fraction represents how many parts of a whole vae you have |
| = Convert betveen FOP kss thanand | | Equvalent: of equal vaibe I
: more than 100 | I Reduce: to make smaler 1 vale :
| * Increase or decrease usng multipliers | | Growth to norease./ to rom |
| EXZ(%S on tamounkt‘aas a percentage : | Integer: vinoke rumber, can be. posttwe, negaiive or zero |
| na percentage change | | Invest:use money with the godl of it nereasing in valve over tme {usualy n g bark) |
- T |
| Convert FDP Q “ Fraction/ Percentage of amount (R I

70 out of 100 HH £60

I 70 This dso sauires i 70hundredths|| T — |
I 100 means 70 i ’ » 707 ] fnd= oF £60 |
| 70 - 100 hurided s [ £36 I

Usng a = 7 “tenths’ .

| g 07 I Remember |
| ] cabuator ‘ Be careful of recurring decmals I Ii;mm.r 107 of £60 - £6 i 360/ -06 |
| m eg | -03333333 ||| 50/ 50/ of £60- £30 s |
| |5~ —>| S=0 |Convert to.adecimal 3 -03 [ 607 of £60 - £36 60/ of £60 |
| The dot dboie (e 3 I it I
| This will give you the. answer \ « 100 converts I - £36 |
| n the simplest form to & percentage I |

= ._'__':.'__'________:_T____—_—_—’_—-_‘—""_-'—_-__."“-_._'_.___________::_-.'__:.:':____________'______.[
| ! Convert FDP < ond > IOO/ II Percentage decrease: Muttiplers Pe,rcentaae increase: Multiplers |

; 5 7 |
: 100 hundrecths S R 40 hundredths l: < 1007 B “ < 1007 > L P |
| (0tentrs |‘ i HE  lenths I| | W I: | I j |
| lor FEEEEEE R B 407 :I ” > :I |
—_— . Decrease by 587 Icr 7
: 140 hundredths | : 47 by | : ease by :
N 4 tenths | |
7+407 . . . v
|| 10074071 o 1 1007-587 =427 wper 11007+ 12/ - 12/ Mitiler |
| I+040 /! «— Il &«
| - 140 1 100 — 058 = 042 Lessthan | ) 100+ 012 = 12 More than ||
| I | I
________________ I________________|_.______________,____.
e e e T T e
: Express as a 7 - Non-caulator Percert — per hndred ] 11 Express as a 7 - Cakulator i :
I
: O O@P | 7pereveny 0are orange | Ths means that 70 per every 100 - I Rose @ :
areorange 70 . VA || —..
| o2 @@ @ 1 o I m 3. 433333...7 |
| o 0 H 3—% —>D—>30—>x|00_’43/ I
27 per every 50 shaded | 34 per every 100 shaded [ — b I
| i l { 271, 54, - 547 l Ths the same as :
| - 50 100 1 Can't use equvaence 13- 30
I I easty Lo find ‘per Decimal percentages |
| Denominator 100 ” Equudent fractions I T hundred’ are st apercentace. | |
e _‘r-—— M e [
YT D D L (R i, | S —m — — — — — — | — — — — —— S — — — — — — — ZO [ S I T S — —
| Percentage change ||
| T bought a house for £180000,1 I Choose appropriate me,thod |
I Tbought g phone for £200 bater sold t for £216,000 Il og I
| O year later sold it for £125 | I
| 100/ [ | The Iinguage and wording of |
| 100/ f L N the question s the key |
| ¢ i = Ol vabes oftcm@e ] N |
| £200 | compare. lo | e ]

I Y (— ORGINOL vake — [ [
| Percentagg. oss - Percentage profit || Have you represented the question n & ]
| 00 - Diffeserce nabe . » 100 —¥ 36000 | bar model?
| 200 002375/ [ Original valve ] Money made {profit vae) 180000 * 100 -207 | : Con you use. & caculator? :




VEAR § - D

: What do [ need to be able

| to do?

By the end of this unit you should be able to:

o Write numbers in standard form and as
ordinary numbers

* Order numbers In standard form

o (Odd/ Subtract with standard from

* Mitvly/ Dude with standard form

* ke a caculator with standard form

[ELOPING NUMBER,

Standard Form

Standard (index) Form: O system of writing very big or very smal numbers
Commutative: an operation is commutative If changing the. order does not change the resut

Powier: The exponent — or the number that tels you how many tmes to use the number n multipleation
Exponent: The power — or the number that tels you how many times to use the number n mutipkeation

Indces: The. power or the exponent

i
|
i
: | Base: The number that gets multipled by 6 power
||
|
||
: : Negative: Ot vae below zero

amxah=amn

Choose a degree of accuracy so in most cases press 2

L e ey 7 r-—re= 7 i e e e e e e e e ey e T e e e
e e e s e e e e e ] e e e e e e e e e e e e
. | 1
| Posttive powers of 10 =| Standard form with numbers > | || Neggtive powers of [0 |
I bifion — 1 000 000 000 | Ory nteger I
| i I Ory number %® 10 1 1 1 1
IIOXIOXIOXIOxIOxIOxIOxIOxIOxlO~I0’* I beteen tas D x IO"‘/ :: 0.001 * o5 — :
I [ Odtion ruke for indces 107 x 107 - (0 J H bl | 0 | 0w ot |0 ||
(. — | A |
[ [ Subtraction ruke for indces 107 - 1P = 107 |: Exampke Non-example |= [x 103 /1 ? |
T I el _! 32x 104 @i 0 I s vl o |
I i o e S s S I| =32x 10x 0% 10x 10 _ Negative powers do rol I
| Numbers between 0 and | Il - 32000 53y (00D I| ;hksozgvierl 0 indcate negatie sobtons /|
: 0.054 1 4 1 1 1 Il_ _____________ I._. ________________ ]
: 10 100 w00 | |, T, T T T T T ———— e
1-54%102 T $ 0 Tor | o Order numbers in standard form | 0 | o | + 0" | o0 | 0> | o
| u
| 0 b () 5 4 -2 9 9 | Look at. the power first
| ” 0.4x 107 24x10*  3.3x1° 3% 10 it :
| 0 negatwe power does not medn a reggive I 240 I 0.13 Use a poce vale g 1o compare the. |
0.064
| answer — it means a rumber closer to 0 I numbers for ordenng |
_______________ _Il_._._._._______.._.._.___._..._______.._._._.._._____I
Tip: Convert into ordinany numbers first and back to I
| Mental wbuhtm I addmon ond SUbtfmtm standard from at the end |
, 6.4 X 10°X1000 Nt n Stonird Form 10°x®) :, :
:—64)( 0P x 103 BB =24 x 10> Notin Stndard Form) | Met | bx |O5+ 8 x |05 Method 2 |
| o4 x 10 6.4 x 1P - ﬂ?@ X 10° Use adeltion for ” = 600000 + 00000 (6 810 :
' \ - 1400000 - W P
: =24X |O6 dces II - |4‘X l05 This s not the. = 14x 10'x 10° I
| @AX 1074 it the vaes | = fid et - L4y 109 |
| 2-4)x10° Remerrbes for Il More, robust method — |
5 ‘ 1 Less room for misconceplions |
I =0.5x 10° Ony integer ||| Easer 1o do cakculations with Only works If the. powers are |
Ory number yre
| between | and hxion 1 negalive. indces the same |
| s than 10 || Can use for dfferent powers |
e | I_ _______________________ 4
P i | RIS |
i i i ficy Use a cakulator o work out this
: M.’ltpmtm and diision For multiplcation and dwision you can book al. the || Usm a cakulator 14x10° x 39x 103 question o 6 sulabk degree of :
5 Division questions vakies for A and the poners of 10 as two aceuracy
: 15X 10° 4 con ok ke ths separate cakuiations I oot 14 and press Then press 5 {for the, powes) |
0.3 0% e o |
| / | il This gves you the soltion |
| |I nput 39 and presc Then press 3 (for the power) |
ROTIN®TS I Fes & /o
| Revist addition and subtraction baws for indces — |I |
[ x 109+ 103 they are needed for the cakulations || Clek cabior for vieo Uortd |
| I Toput into standard form and a sutabe degree of accwoey |
I I
or i of P
| -5y (03 b o e Sl for s IV Press (sm) and then press 7 for soi mode [ roer 551 10f | :
' !




YEAR & - DEVELOPING NUMBER. ..
Number Sense

. S S S S — | — —— — ——— — e — —— —— — — — — —— — — ——— — ——— — — — — — — — — o — —

|
I
| to do? | | Sinificant: Puice vae of mportarce :
By the. end of this wit you shouid be abke to: | I Round: Making a number smpler but keeping its value. close to winat it was I

*  Round numbers to powers of 10 and | sf | Decimat Place. holders after the decimal POlnt I
|

|

I

I

I

|
|
{ *  Round numbers to any dp (| Overestimate: Roundng up — gues a sobution higher than the. actual vale
| = CEstmate soltions | Underestimate: Rounding down — gives a sobtion lower than the actual vabe
| * Cacvlate usng order of operations | | Metric: O system of measurement
| = Calcvlate vith money, units of | | Balance: The amount of money n a bark account
L megsurement and time I I DepasIt Putting money into a bank account |
Pt s BERAY it Toai b R T e ey Sy Ll e Sl s s S S . s e M P e ey
| Round to powers of 10 and | sig ﬁm' © e romber s by betveen ve rondup 370 to | signficant figure s 400 :
: 37 1o |sienticant figure is 40 |
I 5495 to the nearest 1000 5475 1o the nearest 100 5475 to the nearest 10 37 to Isignificant figure is 4 :
| . . . " r 037 to | significart figure s 04

; |
| G0 1 6000 400 1G> %0t 000037 to | sanficant flabre s 00004 |
| [ Round to the first non-zero number |
e T —————— |

| ROUY\d to decimal places 2,46 192 < Focus on the rumbers || Estmnate the cakulation ~ Round to | sgnficant figure to estimate

after the decimal point

| “To ldp" —to ore rurber after the decimel

I
|
|
] To 2dp” — to two rumbers after the decimal | | 42+67 ~4+7 =l This 1s an overestimate because the. 6 7 was rounded up more |
| I'2. 40192 tto 1dp) - Is th closer to 24 or 25 A 4 6192 T:ls Sho‘;s : l V\The equal 9gn changes to show 1t 1s an estimation :
| ll 4 t‘ @ cbs:rug ; 5|S ] | AL4x 3.1 =20x3 =60 Thsisanunderestimate because both vales were rounded donn |
I |
| 246192 tio 12dp) - & ths choser (o 246 or 247 A, 4@ 192 Ths shows tre || It 1s good to check all caculations with an estimate 1 al aspects of maths — it |
| ; . . V\number s closer |I helps you identify calculation errors |
| .ﬂb 247 to 246
'———"‘———""——————""“:_'::—_—_—_—_—'I— ——————————————————————————— -!
:Orderofoperatm 0o I[Cabulatlonswrthmoneu 00 s |
| Brackets Operations in brackels are caculated first | | Debit - You have £0 o more in an accourt Money calcubtons are to ' -4 |
| Other Leo) ) (@)
operations eg powers, roots, | C{ dt Adp ) _ (s |
- You have kss than £0 n an accourt — -
| Matipication’ Divsion : } © ' |
| They are carned out n the order from kfl to nght in the = 13 vt Tt |
stion : : Using a calculator — ensure you are. working in the L ﬁ ". = El |
| Oddition/ Subtraction i LT 100 et~ s |
= - - ) ta ‘i ” ‘1. )
| £130 +50p = 130+ 50 (n perce) £ - 100 o =6y &,
Trey are corned out n the order from left to nght n the I | - ) p —8 X 2
| | gesion I = 130 + 050 {n pouinds) J|
S e PO, i T e ]
Iy mm cm m m 9 kg T ml LI
! 10 100 1000 ¢
< < + 0 oo 1000
S SO i S SR e SO .... S e S [
| Metric megsures of kzmth 1 Time ard the calendar 1 Merths  ore e - 51 veeks Lday= 24 bows |
] tilo = 1000 x meter Cent - 7= x meter | | » 4 gulg dag;t— Dizn, March, Moy, July %e G(é gxgr:;cti;dg '
| b = o
| I ' 30 das — Opri, June, |
[ Year —he f s — Opril June, Sept, Nov
| M- Tloo X meler | : ﬁiﬁmh lo“;‘?;;:ﬁ ; 28 days — Feb (24 leap year) [
r N 365 (and & quarter) daugs ek — 7 das Use a number Ine for :
TR T ey Leap:Year — 366 das (every Monday, Tuesdy, Wednesday time calculations!
: Units of weight/ capacity : : 4 years Thuvsdoy, Frda, Salurdany Sory I
. |
| e - g1 |: L houe cock Ul Clok LU0 W) 3 e |
| Capacty volme of lqud) = mi, L | | * Use am (moming) and pm- (aftemoon) — S0 (morming hors) |
3 | * Onlyuse howr tmes up to 12 ~ -G ’7{;, P]E 12-23 {afternoon hours) |
————————————— — — ——— —————— — — — —— — — — — — — —— —— — — — — — — o wond]




